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M.Com. ( Sem ~1V) Examination
410 ED International Economy & Policy
April — 2017
Time : 3 Hours Max Marks : 70

Instruction : 1) Marks for each question is given in brackets.
2) Answer the question within given limits.

Ques 1)
a) Briefly explain the Hecksher Ohlin trade model. (N
Or
a) Explain the standard trade model in brief. (7
b) Answer any two in brief:- 4)

1) Give a distinctive feature of International Trade?
2) What are the causes and effect of international labour movement?
3) What is the impact of learning curve on international trade?

¢) Answer any two in one or two sentences:- (3)
1) What is intra industry and inter industry trade?
2) What is the effect of increased market size?
3) How is the direction of trade decided under the theory of comparative cost advantage?

Ques 2)

a) Briefly explain the IS-LM-FE model. )
OR

a) Describe the various parts of the Balance of payment account. )

b) Answer any two bricf :- 4)

1 Explain the relationship between exchange rate and interest rate.

2. Explain the open economy equation of national income.

3.Who arc the major participants of the foreign exchange market?.
c) Answer any two in onc sentence 3)

1. What is purchasing power parity?

2. What 1s reserve currency?

3.If inflation rate increases in an cconomy than what would beits impact on exchange
rates ? ‘

Ques 3)
a) What arc the terms of trade and how they are calculated? (7) .
OR
Explain the policy of Import substitution and export promotion. (7
b) Answer any two in brief :- 4)

1) What trade practice can a developing country adopt?.
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2) Explain the infant industry argument?.
3) Write a short note on Tariff.

c) Answer any two in one or two sentences :- (3)
1) What is the effect on government revenue when a country joins a custom

union?
2) What is optimum tariff?
3) What are trade war?

Ques 4)
a) What are the reasons for the expansion of international capital market? (7
OR
a) What are the major problem faced by developing country with regard to forcign
exchange? (7)
b) Answer any Two in brief: (4)

1. What is contagion?
2. What is Seignioage?
3. What were the reason for shifting to floating exchange rate?
c) Answer any two in onc sentence: 3
1. What is SDR and state its importance?
2. What are the main characteristics of European Monetary System?
3. What is meant by expenditure switching and expenditure changing policy?

Ques 5 Select and write the correct option: (14)
1) Which of the following is not studied in International economics.
1) Trade Theory

2)Terms of Trade
3) Trade Policy
4) Trade Litigation.
2) I the price index of export in the country is 603 and the price index of import is 1300
than the net barter terms of trade is :
1).0464
2)0.428
3)2.28
4)2.16 )
3) The J curve is associated with the behavior of
1) adjustment entries
2) current account
3) unilateral transfer
4) capital account
4) In India the inflation rate is 9% and it is 3% in USA, Then :
1) Rupee will appreciate against US dollar
2) Rupee will depreciate against US dollar
3)Exchange rate will remain unchanged
4) Both currencies will depreciate
5) A deficit in current account can be balanced by
1) The Trade account

(PT.0/
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2) Unilateral payments
3) Capital account
4) Non of the above
6) The custom union prices are
1) Higher than the free trade price
2) Lower than the free trade price
3) Higher than closed economy domestic price
4) Equal to the domestic price
7) The linancial requirement of developing countries led to:
1) Debt Crises
2) Widening the gap between rich and poor countries
3) ( a) but not (b)
4) Both (a) and (b)
8) The German hyper inflation happened between
1) 1989-1999
21919-1923
3) 1939-1943
4) 1969-1973
9) The SDR was introduced in which year
1) 1951
2) 1961
3) 1971
4) 1991
10) In managed floating the central bank :
1) Keeps the exchange rate within a band
2) Allows the exchange rate to increase infinitely
3) Allows the exchange rate to decrease infinitely
4) Maintain a fixed exchange ratc
11) Direction of trade in standard trade model uses:
1) Olfer curves
2) production possibilities curves
3) [soquants
4) Expansion path of production
12) International lending and borrowing is considered as :
: 1) Financial Trade
2) Indebtedness
3) Intertemporal trade
4) Merchandize Trade
I3) The per unit cost of labour in India is USD 10and in China is USD 15, than as per
hecksher ohline theory
1) Indian is labour abundant
2) China is labour abundant
3) India is a poorer nation
4) China is a poorer nation
14) Quota as a protection policy tool is
1) Not as good as tariff
23 better than tarift
3) same as tarifl
4) None of the above




